Math 122 - Test 1 Sep 27 2012

Question 1:

(a)[3] Write as a simplified expression which does not involve trigonometric functions:

pei(t), 52 ]x 6

‘ &

| £t
b+ cos [ton (%] cos @ =/

(b)[3] Determine '(0) where
f(x) =sin(e* —1) arcsin.(ex -~ 1)

3(’((7() = 005(6%() °€x~ avu[m(t’x-{) + S[h(fxﬂ) '57( .

e Ji- =
arqu(o) 5 g(m(o) Q d

= @ /ji —0¢

(c)[4] Determine the exact value of

Loy = cos(o).

sin (arc;in-(\/g/Z) — arccos(\/§/2)>
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Question 2:

(a)[5] Find all values of x for which cosh (Inx) = 1.
Cosh (ﬂv\ 75) =|
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e +€ =20
~

Y + X =1

= |
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() =0
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(b)[5] Determine f(x) if
f'(x) = 15¢/x +sinh (x), F(0)=1,f0)==
1 Y
Foo=1s x +sinh(x)

{ _ %y
Foo=15 x cosh(x) tC

(%)

N/g

= 10y ~+cosho)+C

é:\(&?—l--:) o+ |+C, = |
C, =
p | Y, l @]
0o :F(X): lo X + cof L\(X)
.
fir) = 4 gsink (1) €Cy
Leo) =T = o+ 0 t(L,=TC

@ fox) = Hx™> 4 sind () + ﬂ
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(a)[5] Evaluate the limit if it exists:
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(b)[5] Evaluate the limit if it exists:
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Question 4:
(a)[5] Evaluate the limit if it exists: X 1
X 1
. - 0o
XI_]_)r% (x—l lnx) 7~ o
— (, (wvy l N ~ 7<+{ W v
Xt I ~ 2
(%) Alx) o
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T |
x>\ —
Lo+ L o (x) (=
_ \
2
(b)[5] Evaluate the limit if it exists: e € o u
| x—1t ~ {
- L
X1 (’X'l)/e""' x 1" Y
X = e  Congiden lim nX O
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Question 5: Use the definition of the definite integral in the form
b n .
/a f(x)dx = nll[r;og f(x)Ax

to evaluate )
/ (2x3 — 3X) dx
0

Carefully set up the Riemann sum and clearly show the steps of your simplication.

L= ax3x

Ax= .b_:_o\ = ;2_:9-}:.
X1 a+LAX~O+L(%)=%,
N o 2 [2( :
o' ~3 = 22~ 3"-’):) -
@x=3x e = o & <)-3%) | (%)
A
= 5. Z (B - )
= bam [ 32/5 -;)_ L j2
S [ B(ZV) - a2 ]

w2

= (::;” [E_E. m;*ﬂj"_ 2 wne)

S A
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